
  
  (a) 400 mL (b) 2.00 mol/L (c) 2.50 mol/L (d) 80.0 mL   

  (a) 1.25 mol/L (b)  (c)  

    (d) 40.0 g 6.32 g 1.17 mol/L

 

      4.74 g 1.17 mol/L  

   A a mol/L ,B b mol/L C v mL  

     2200.0
100

100
v

a    

           200.0
10010

1
v

vb    

     20.80320
8
5 ba    

     400v 00.2a 50.2b  

     D V mL  

         2)100240(50.2
8
500.210000.2 VV    V = 80.0 

   60 Na2SO4 E 0.100 mol(14.2 g) 105.8 g  

F 0.200 mol(28.4 g) 91.6 g G 0.150 mol(21.3 g) 98.7 g  

    (a) 0.150 mol÷120 mL 

    (b)(c) 20 E 14.2 g  

F G F w g
w

w

120
322
1424.28

120
0.20

 

 62.30w 62.30
322
1424.28 = 14.9 g  

G 4.74 g 19.2 g  

    (d) 3  

E F G = 2 4 3 E F G

 

 

 

75  

 

  
 

  (a)  (b)     (a)  (b)       

  (a)  (b)      

   

   AgCl  

 

 

              

 
 

  (a)  (b)  (c)  (d)   (a)  (b)     

  (a)  (b)  (c)   

 

   n mol

(1.0 n) mol  

     
1000

0.70100.0
200

00.2)0.1( n    n = 0.30 

     (b) 39.1
0.32

30.00.420.32
 

     (c) 6.50100
3

162
0.32
30.0

 

【化学 （解答）】 

  

 

         
  
       

         
  

 

 

  
    
      
  

 
 

   
 
 

 

 

  
  
  
  
  


